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Q.1 A Force can be completely described by : 

 (a) its magnitude (b)  its direction 

 (c) its magnitude and direction 

 (d) neither magnitude nor direction 

Q.2 The SI unit of force is  

 (a) newton (b) newton per second 

 (c) newton metre  

 (d) newton per square meter 

Q.3 Friction between two flat surfaces can be 

reduced by  

 (a)  greasing (b) Painting 

 (c) using ball bearing   

 (d) decreasing the area 

Q.4 The one which has the least magnitude is  

 (a) static friction (b) rolling friction 

 (c) sliding friction (d) limiting friction 

Q.5 force of friction does not depend upon 

 (a) nature of surface (b) weight of the body 

 (c) area of contact (d) Nature of bodies 

Q.6 Which is not a non – contact force 

 (a) Gravitational (b) Electrostatic 

 (c) Magnetic (d) Frictional 

Q.7 The effective  resistance  between A  & B is 

 

 

 

 (a) 4.4 Ω (b)  6.8 Ω 

 (c) 5.3 Ω (d) None 

Q.8 A cylindrical wire having the length ‘l’  and radius 

‘r’ offers a resistance of 10 Ω its length increased 

by 3 times then new resistance will be: 

 (a)  30 Ω (b) 90 Ω 

 (c)  15 Ω (d) None  

Q.9 Which of the following is not a example of non-

ohmic resistance 

 (a) Diode (b) Torch bulbs 

 (c) both a & b (d) None 

Q.10 Resistance of ideal voltmeter is : 

 (a) 10 Ω (b) 10000 Ω 

 (c) zero (d) infinity 

Q.11 Volta meter is a device use to :- 

 (a) To measure current 

 (b) To measure potential difference 

 (c) To measure electric charge in electrolysis 

 (d) All 

Q.12 Which of the following best describes the ohm’s 

law 

 (a) v= 
qr

t
 (b)  r = vi 

 (c) i= vR (d) All 

Q.13 Who discovered  the magnetic behaviour  of 

electric current first of all) 

 (a) Flemmiy (b) Bio- Savort 

 (c) Ampere (d) None of these 

Q.14 Electron volt is the unit of :- 

 (a)  energy (b)  Charge 

 (c) potential  difference   

 (d)  None 

Q.15 8.4 kilojoule is equals to :-  

 (a) 2000 cal (b)  8400 cal 
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 (c)  4200 cal (d) None  

Q.16 levers are of  

 (a) One kind (b)  two kinds 

 (c) three kinds (d) Any numbers 

Q.17 A current carrying wire produces  

 (a) an electric field (b) a magnetic field 

 (c) both electric & magnetic field 

 (d)  None 

Q.18  What is increased in a step down transformer ? 

 (a)  Voltage (b)  current 

 (c) wattage (d)  current density 

Q.19 The material of the core of a strong 

electromagnet is  

 (a) Steel (b)  Soft iron 

 (c) wrought iron (d)  Brass 

Q.20  The principle of which of these devices  is 

electromagnetism  

 (a) Galvanometer (b)  Motor 

 (c) Transformer (d)  All 

Q.21 The speed of the motor does not depend upon 

 (a)  The strength of the magnetic field 

 (b)  the current  in the coil 

 (c) the number of turns in the armature coil. 

 (d) None 

Q.22 A uniform wire of resistance R ohm is divided 

into ten equal parts and all of them are 

connected in parallel. The net resistance is  

 (a) 0.01 R (b)  0.1R 

 (c) 10 R (d) 100 R 

Q.23 A certain piece of copper is to be shaped  into a 

conductor of minimum resistance. Its length and 

diameter should be 

 (a) L, d (b) 2L, d 

 (c) L/2, 2d (d) 2L, s/2 

Q.24 Resistance  is measured  in  

 (a) ohm-m (b)  siemens 

 (c) ohm (d) mho 

Q.25 The unit  of resistivity is :- 

 (a) ohm-m (b)  siemens 

 (c) ohm (d) mho 

Q.26 A current  of 4.8 ampere is flowing in a 

conductor. The number of electrons flowing per 

second through the conductor is  

 (a) 76.8 ×1020 (b) 7.68 ×1020 

 (c) 3×1020 (d) 3 ×1019 

Q.27 Intensity of sound does not depend upon:- 

 (a) amplitude (b) frequency 

 (c) density (d) mass of body 

Q.28 Bats detect their prey by receiving the reflected 

 (a) radio waves (b) ultrasonics 

 (c) infrasonics (d) sound waves 

Q.29 The frequency  of a vibrating string depends 

upon:- 

 (a)  length of string (b) Tension  in string 

 (c) Mass per unit length of string 

 (d) all of these 

Q.30 The audible range for a normal human being is  

 (a) 10 Hz to 20,000 Hz (b) 20 HZ to 20kHz 

 (c) 10 HZ to 50 kHz (d) 20 Hz to 1000 Hz 

Q.31 The velocity  of light is minimum in  
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 (a)  water (b) glass 

 (c) diamond (d) air 

Q.32 The minimum  value of refractive index is  

 (a) zero  

 (b) less than one but not zero 

 (c) one (d) more than one 

Q.33 The ratio of refractive index  of red light to blue  

light in air is  

 (a) 1 (b) <1 

 (c) >1 (d) None 

Q.34 If n is the refractive index and θc of the  critical 

angle of a medium then 

 (a) sin θc  > 
1

n
 (b) sin θc  < 

1

n
 

 (c) sin θc  = 
1

n
 (d) None 

Q.35 In total  internal reflection 

 (a) 50 % of light is absorbed 

 (b) 50 % of light is reflected 

 (c) 100 %  of light is reflected 

 (d) 100 % of light is refracted 

Q.36 The ‘mirage observed in hot deserts is due to 

the phenomenon of  

 (a) refraction (b) reflection 

 (c) total internal reflection 

 (d) scattering 

Q.37 In total internal reflection 

 (a) laws of reflection are obeyed 

 (b) laws of refraction are made 

 (c) angle of reflection is greater than angle of 

incidence 

 (d) angle of reflection is less than angle of 

incidence 

Q.38 Critical angle of a medium is 60
0
, then its optical 

density is  

 (a) 
1

2
 (b) 

2

 3
  

 (c)  1 (d)  2 

Q.39 What remains constant when light is refracted  

from one medium into the other 

 (a) wavelength (b) velocity 

 (c) frequency (d) all 

Q.40 While passing through a prism , which  colour of 

light  is least deviated 

 (a)  red (b) yellow 

 (c) violet (d)  green 

Q.41 According to the modern periodic law, the 

properties of elements are a periodic function of 

their 

 (a) atomic number (b) atomic mass 

 (c) atomic  volume (d) mass number 

Q.42 Which of the following elements has the highest  

electronegativity? 

 (a) I (b) Br 

 (c) Cl (d) F 

Q.43 The number of elements  in each of the long 

periods is  

 (a) 2 (b) 8 

 (c) 18 (d) 32 

Q.44 An element with atomic number 19 will most 

likely combine with the element whose atomic 

number is  

 (a) 17 (b) 11 

 (c) 18 (d) 20 

Q.45 The bond formed between the two atoms of the 

same element to form a molecule is  
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 (a) ionic (b) covalent 

 (c) polar (d) coordinate 

Q.46 The number  of single  covalent bonds present 

in C2H2 molecule are ,  

 (a) 2 (b) 5 

 (c) 3 (d) 4 

Q.47 The number  of  electrons shared by the atoms 

of oxygen during the formation of oxygen 

molecule are, 

 (a) 2 (b) 4 

 (c) 8 (d) 6 

Q.48 The chemical formula of aluminium sulphate is ,  

 (a) AlSO4+ (b) Al (SO4)3 

 (c) Al2(SO4)3 (d) Al3SO4 

Q.49 Which  of the following contains lactic acid? 

 (a) grapes (b) Curd 

 (c) tomatoes (d) Onions 

Q.50 Which of the following  turns methyl orange red? 

 (a) dil. Sodium hydroxide solution 

 (b) dil. Ammonia solution 

 (c) limewater 

 (d) dil. Hydrochloric acid 

Q.51 Which of the following does not displace 

hydrogen from acids? 

 (a) copper  (b) sodium 

 (c) magnesium (d)  zinc 

Q.52 The pH of a pure sample  of water at 298 K is 

always 

 (a) 7 (b) <7 

 (c) >7 (d)  None 

Q.53 The process in which a hydrated salt loses its 

water of crystallization to the air is called  

 (a) vaporization (b) deliquescence 

 (c) efflorescence (d) sublimation 

Q.54 Which of the following  loses mass when left 

exposed to air? 

 (a) Mg Cl2.6H2O (b) CaCl2.6H2O 

 (c) Na2SO4.10H2O (d) None 

Q.55 Which of the following gives acidic solution? 

 (a) Na2SO4 (b) KCl 

 (c) NaNO3 (d)  Cu (NO3)2 

Q.56 An acid can react with  

 (a) Na2CO3 (b) PbSO4 

 (c) Na2SO4 (d) AgCl 

Q.57 The colour of potassium dichromate is due to its 

 (a) Potassium ion (b) dichromate ion 

 (c) chromium ion (d) chromate ion 

Q.58 The anion which imparts purple colour to its 

solution is  

 (a) sulphate (b) acetate 

 (c) chromate (d)  permanganate 

Q.59 Which of the following is not an amphoteric 

oxide? 

 (a) Na2O (b) ZnO 

 (c) Al2O3 (d) PbO 

Q.60 Volume – volume relationship for a reaction 

between gases is given by 

 (a) charles’s law (b) Boyle’s law 

 (c) Avogadro’s law (d) Gay-Lussac law 

Q.61 The mass percentage of hydrogen in water is 

 (a) 1.11 (b) 88.9 
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 (c) 8.89 (d) 11.11 

Q.62 The accepted  unit of atomic and molecular 

masses is  

 (a) kilogram (b) gram 

 (c) pound (d) atomic  mass unit 

Q.63 Chemists commonly express the amount of any 

substance in the unit of  

 (a) mass (b) density 

 (c) mole (d) volume 

Q.64 The ratio  between he number  of molecules in 

2g of hydrogen and 32 g of oxygen is  

 (a) 1 : 2 (b) 1 : 0.1 

 (c) 1 : 1 (d) 0.01 : 1 

Q.65 The element whose gram- atomic mass and 

gram- molecular  mass are the same  is  

 (a) hydrogen (b) oxygen 

 (c) nitrogen (d) helium 

Q.66 Mass of one Avogadro’s number of oxygen 

atoms (O) is equal to   

 (a) 16 u (b) 16 g 

 (c) 32 g (d) 6 kg 

Q.67 The molecular formula of calcium  phosphate is  

 (a) CaPO4 (b) Ca3(PO4)2 

 (c) Ca2PO4 (d) Ca (PO4)3 

Q.68 The number  of molecules in 8 g of oxygen gas 

is  

 (a) 6.02 × 10
23

 (b) 3.01 × 10
23

 

 (c) 1.5 ×10
23

 (d)  3.01 × 10
12

 

Q.69 The correct molecular formula of a compound in 

which carbon and hydrogen are present in the 

ratio of 1 : 1.5 is  

 (a) C1H1.5 (b) C4H6 

 (c) C2H3 (d) C1.5H1 

Q.70 The percentage of water in Na2S.9H2O is about 

 (a) 75 (b) 68  

 (c) 45 (d) 90 

Q.71 A gas cylinder can hold 1 kg of hydrogen at 

room temperature and pressure. The mass of 

carbon dioxide it would hold under similar 

condition is  

 (a) 220 kg (b) 2 kg 

 (c) 2.2 kg (d) 22 kg 

Q.72 A metal which displaces another metal from its 

salt solution is more 

(a) electronegative (b) electropositive 

 (c) acidic (d) basic 

Q.73 Which of the following  has the highest tendency 

to get oxidised at the anode? 

 (a) CI
−
 (b) OH

−
 

 (c) NO3
− 

(d) SO4
2−

 

Q.74 During  the electrolysis of copper sulphate 

solution  using platinum anode, the product 

obtained at the anode is 

 (a) copper  (b) Copper (II) ion 

 (c) oxygen gas (d) hydrogen gas 

Q.75 During  the electroplating of gold , the electrolyte 

used is  

 (a) AuCI3(aq)  

 (b) AuCI3(aq) + HCI(aq) 

 (c) Molten AuCI3 

 (d)  Molten gold oxide 

Q.76 During  the electrolysis of CuSO4(aq) using 

copper electrodes, the substance  liberated at 

the anode is  

 (a) Sulphuric acid (b) sulphur dioxide 
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 (c) oxygen (d) Cu
2+

ions 

Q.77 The gas obtained at the cathode during 

electrolysis of HCI (aq) using platinum  

electrodes are 

 (a)  mixture of hydrogen and chlorine 

 (b) hydrogen chloride gas 

 (c) chlorine  

 (d)  hydrogen 

Q.78 Factor influencing the discharge  of ions at the 

electrodes are  

 (a) applied voltage 

 (b) duration 

 (c) nature of electrode  

 (d) position in the electrochemical series 

Q.79 Which of the following is not metallic? 

 (a) brass (b) neon 

 (c) lead (d) Calcium 

Q.80 The best electrical conductors is  

 (a)  gold (b)  copper 

 (c)  silver (d)  aluminium 

Q.81 The roots of the equation x
2
+x−p(p+1)=0, where 

p is a constant  are : 

 (a) p, p+1 (b) −p, p+1 

 (c) p, −(p+1) (d) −p, −(p+1) 

Q.82 In  an A. P. , if d = −2, n = 5 and an =0, then the 

value of a is : 

 (a) 10 (b) 5 

 (c) −8 (d) 8 

Q.83 The  radii of two circles are 4 cm and 3 cm 

respectively. The diameter of the circle having 

area equal to the sum of the areas of the two 

circles (in cm.) is : 

 (a) 5 (b) 7 

 (c) 10 (d) 14 

Q.84 A sphere of diameter 18 cm is dropped into a 

cylindrical vessel of diameter 36 cm, partly filled 

with water. If the sphere is completely 

submerged, then the water level rises (in cm ) by  

 (a) 3 (b) 4 

 (c) 5 (d) 6 

Q.85 The angle of elevation of the top of a tower from 

a point on the ground, which is 30 m away from 

the foot of the tower is 45
0
. The  height of the 

tower  (in cm ) is : 

 (a) 15 (b) 30 

 (c) 30 3   (d) 10 3   

Q.86 The point P which divides the line segment  

joining the points A (2, −5) and B (5, 2) in the 

ratio 2 ; 3 lies in the quadrant : 

 (a) I (b) II 

 (c) III (d) IV 

Q.87 The mid-point of segment AB is the point P (0, 

4) . If the coordinates of B are (−2, 3), then the 

coordinates of A are : 

 (a) (2, 5) (b) (−2, −5) 

 (c) (2, 9) (d) (−2, 11) 

Q.88 Which of the following cannot be the probability 

of an event ? 

 (a) 1.5 (b) 
3

5
   

 (c) 25 % (d) 0.3 

Q.89 Solution of the equation x
2
- 5x-10=0 is  : 

 (a) 6.53 (b) −1.53 

 (c) both a and b (d) None  

Q.90 If the common difference of an A.P. is 3, then 

a20−a15 is : 

 (a) 5 (b) 3 

 (c) 15 (d) 20 

Q.91 The perimeter  (in cm.) of a square 

circumscribing a circle of radius a cm. is : 

 (a) 8a (b) 4a 

 (c) 2a (d) 16a 

Q.92 The radius (in cm.)  of the largest right circular 

cone that can be cut out from a cube of edge 4.2 

cm is : 
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 (a) 4.2 (b) 2.1 

 (c) 8.4 (d) 1.05 

Q.93 If  ∆ABC ≅ ∆LKM, then side of ∆LKM equal to side 

AC of ∆ABC is  

 (a) LK   (b) Km   

 (c) LM (d) None 

Q.94 If A and B are two events then P (A  ∩B )= 

 (a) P(A ) P(B ) (b) 1- P(A) –P(B) 

 (c) P(A)+P(B) –P(A∩B) (d) P(B) –P(A∩B) 

Q.95 If A and B are the points (−6, 7) and (−1, −5) 

respectively, then the distance 2AB is equal to: 

 (a) 13 (b) 26 

 (c) 169 (d) 238 

Q.96 A card is drawn from a well-shuffled deck of 52 

playing cards. The probability that the card will  

not be an ace is : 

 (a) 
1

13
 (b) 

1

4
 

 (c) 
12

13
 (d) 

3

4
    

Q.97 Which of the following  is solution of 2x−y+6=0? 

 (a) (2, −2) (b) (2, 2) 

 (c) (−2, 2) (d) (−2, −2) 

Q.98 In a parallelogram ABCD , if ∠A = (2x+25)
0
 and 

∠ B = (3x−5)
0
, then the value of x is : 

 (a) 32
0
 (b) 36

0
 

 (c) 45
0
 (d) 60

0
 

Q.99 If A and B are two given sets ,then A∩ (A∩B)
C
 is 

equal to  

 (a) A (b) B 

 (c) ∅ (d) A
C
∩B

C
 

Q.100 If A ∩ B = B then 

 (a) ACB (b) BCA 

 (c) A= ∅ (d) d=∅ 

Q.101 Volume of right circular cone whose radius is 
2

3
 

of height (h) is : 

 (a) 3πh
3
 (b) 

2

9
 πh

2
 

 (c) 2πh
3
 (d) 

4

9
πh

2
 

Q.102 A fair coin is tossed 1000 times and the head 

occurs 580 times and tail 420 times. The 

probability of getting a head is : 

 (a) 
1

2
 (b) 

21

50
 

 (c) 
29

50
 (d) 

42

48
 

Q.103 Coordinates of the centroid of a triangle whose 

vertices are A(-1, 3), B (1, -1) and C (5, 1) 

 (a)  
5

3
, 1  (b)  

3

5
, 1  

 (c) 5, 3 (d) None 

Q.104 If the diagonals  of a quadrilateral bisect each  

other at right angle, then it is : 

 (a) trapezium (b) rhombus 

 (c) rectangle (d) parallelogram 

Q.105 If (1 ,2 ) is the solution of the equation 

2x+3y=2p, then the value of p is : 

 (a) 3 (b) 4 

 (c) 6 (d) 8 

Q.106 If one angle  if a  parallelogram is 30
0
 less than 

twice the smallest angle , then measure of 

smallest angle is : 

 (a) 50
0
 (b) 60

0
 

 (c) 70
0
 (d) 80

0
 

Q.107 The median of the following observation 11, 12, 

14, 18, (x+4), 30, 32, 35, 41 arranged in 

ascending order is 24. Then x is equal to  

 (a) 20 (b) 24 

 (c) 16 (d) None 

Q.108  
sin θ tan θ

1−cos θ
  is equal to  

 (a) 1+ secθ (b) tanθ+ cot θ 

 (c) cosecθ (d) None 

Q.109 
2tan 530

cot 370 −
cot 800

tan 100  is equal to  

 (a) 1 (b)  0 

 (c) 2 (d) None  

Q.110 The ratio of the volume of a right circular 

cylinder and a right circular cone of the same 

base and height is : 

 (a) 3 : 4 (b) 4 : 3 

 (c) 1 : 3 (d) 3 : 1 
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Q.111 The mean of 5 number is 18. If one data is 

recorded , then probability of getting even 

numbers in a trial is :  

 (a) 26 (b) 23 

 (c) 25 (d) 28 

Q.112 Cost of diesel in a city is Rs.  38 per litre. If 

represents the consumption of diesel daily and x 

represent the total cost, the linear equation so 

obtained is : 

 (a) 38x−y=0 (b) 38x+y=0 

 

 (c) 38y−x=0 (d) 35y+x=0 

Q.113 A triangle  and parallelogram are on the same 

base and between same parallel, then ratio of 

area of triangle to that of parallelogram is  

 (a) 1 : 2 (b) 1 : 3 

 (c) 1 : 4 (d) 1 : 1 

Q.114 Kiran purchases an article for Rs. 5400 which 

includes 10 % rebate on the marked  price and 

20% sales tax on the remaining price marked 

price of the article is  

 (a) 5000 (b) 6480 

 (c) 4550 (d) None 

Q.115 If  
3x+5y

3x−5y
=

7

3
 then x : y equal  

 (a) 25 : 6 (b) 7 : 3 

 (c) 3 : 7 (d) None 

Q.116 The probability of drawing  a king from a pack of 

well shuffled 52 cards is : 

 (a) 
1

13
 (b) 

1

26
 

 (c) 
1

52
 (d) 

2

13
 

Q.117 Which  of the following  is a solution of the linear 

equation 3x−2y=8 

 (a) x=0, y =4 (b) x=0, y= −4 

 (c) x=1, y =−2 (d) x =3, y= 0 

Q.118 Three angles of quadrilateral are 70
0
, 120

0
, 84

0
. 

The fourth angle of quadrilateral is : 

 (a) 86
0
 (b) 96

0
 

 (c) 76
0
 (d) 106

0
 

Q.119 Let A =  1
2

 0
1
  , B=  2

−1
 3

0
  then A

2
+AB+B

2
 is equal 

to  

 (a)  4
5

  9
4
  (b)  5

3
  4

1
  

 (c)  0
2

  1
1
  (d)  2

1
  3

0
  

Q.120 
sec A−1

secA +1
  is equal to  

 (a) 
1−sinA

1+sinA
 (b) 

1−cosA

1+cosA
 

c) 
1+tanA

1+cotA
 (d) None  
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Q.121 Haploid cells belong to : 

 (a)  integument, pollen grain endosperm 

 (b) embryo, endosperm and pollen grain 

 (c) megaspore, pollen grain antipodal 

 (d) integument, pollen grain and antipodal 

Q.122 Chondriosome is discovered by : 

 (a) Benda (b) messelson 

 (c) Dujardin (d) Taylor 

Q.123 DNA  is a ssociated with highly basic protein 

called: 

 (a) histones (b) non histones 

 (c) albumins (d) non albumin 

Q.124 The stage at which the two cells, each with  

separated sister chromatids move towards 

opposite poles is : 

 (a) anaphase I (b) anaphase II 

 (c) metaphase I (d) metaphase II 

Q.125 The number  of hydrogen bonds between 

adenine (A) and thymine (T) in a DNA molecule 

is : 

 (a) 2 (b) 4 

 (c) 3 (d) 1 

Q.126 Organism that does not evolve O2 during  

photosynthesis is : 

 (a) funaria (b) Anabaena 

 (c) Rhodospirillum (d)  Pisum 

Q.127 Which of the following  plant is not green? 

 (a) rose (b) cuscuta 

 (c) orobanche (a)  all 

Q.128 Phytochrome in plants is sensitive to  

 (a)  red light (b)  green light 

 (c) yellow light (d)  red and far red light 

Q.129 Photophosphorylation was discovered by 

 (a) Arnon (b) Hill 

 (c) Calvin (d)  Ruben and kamen 

Q.130 First CO2 receptor in C4 plants is   

 (a) PGA (b) PEP 

 (c) RuBD (d) OAA 

Q.131 The first reaction in photorespiration is : 

 (a) decarboxylation (b) oxygenation 

 (c) carboxylation (d) phosphorylation 

Q.132 Peroxisomes  are rich in  

 (a) reductive enzymes (b) lytic enzymes 

 (c) oxidative enzymes (d) catalytic enzymes 

Q.133 Pellagra  is caused  by the deficiency of  

 (a) ascorbic acid (b) folic acid 

 (c) niacin (d) riboflavin 

Q.134 Bilirubin and biliverdin are  

 (a) bile salts (b) bile pigments 

 (c) bile juices (d)  bile enzymes 

Q.135 Which of the following teeth are lophodont: 
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 (a) premolar and molar  

 (b) premolar and incisor 

 (c) incisor and canine 

 (d) canine and premolar 

Q.136 Prolonged deficiency of nicotinic acid causes 

 (a)  anaemia (b) pellagra 

 (c) osteomalacia (d) xerophthalmia 

Q.137 Induced fit theory of enzyme action was given by  

 (a)  Koshland (d)  Fischer 

 (c) Sumner (d) Buchner 

Q.138 Which of the following gas makes most  stable  

product with haemoglobin? 

 (a) O2 (b) CO2 

 (c) CO (d) SO2 

Q.139 The oxidative breakdown of respiratory 

substrates with the help of oxygen is termed as  

 (a) fermentation (b) combustion 

 (c) anaerobic respiration  

 (d) aerobic respiration 

Q.140 Cristae are associated with 

 (a) chloroplast (b) nucleus 

 (c) mitochondria (d) golgi bodies 

Q.141 In which part of mitochondria does ATP 

synthesis occur? 

 (a) F1 (b) F0 

 (c) Cristae  

 (d) Inner membrane of mitochondria 

Q.142 Fat, prior to its oxidation associate with  

 (a) Cyclic AMP (b) CoA 

 (c) GMP (d) ATP 

Q.143 During  blood clotting , the platelets release: 

 (a) thrombin (b) Prothrombin 

 (c) fibrin (d) thrombokinase 

Q.144 The first heart sound is produced when 

 (a) systole begins 

 (b) diastole begins 

 (c) semilunar valve closes 

 (d) biscuspid and tricuspid valve close quickly 

Q.145 At high altitude, the RBCs in human blood 

 (a) increase in number 

 (b) decreases in number 

 (c) increase in size (d)  decrease in size 

Q.146 Heparin  is formed by : 

 (a) kidney cells (b)  blood cells 

 (c) liver cells (d)  bone marrow 

Q.147 Antibodies are : 

 (a)  carbohydrates (b) Immunoglobulins 

 (c) globular proteins (d)  extrinsic proteins 

Q.148 Two examples in which the nitrogenous wastes 

are excreted from body in the form of uric acid 

are : 

 (a) mammals and mollusca 

 (b) frog and fish 

 (c) insect and earthworm 

 (d) birds and lizards 

Q.149 Micturition reflex is related to  

 (a) ovulation (b) copulation 

 (c) fertilization (d)  urination 

Q.150 Excretion in Amoeba occurs through 

 (a) rhizopodia  (b)  contractile vacuole 
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 (c) plasma membrane (d) mitochondria 

Q.151 Phenotypic ratio in F2 generation is :  

 (a)  9 : 3 : 3 : 1 (b)  4 : 2 : 2 :2 :2:1:1:1 

 (c) 3 : 1 (d)  None 

Q.152 Mammalian kidney is  

 (a)  Pronephros (b)  epinephros 

 (c) Mesonephros (d)  metanephros 

Q.153 Water  reabsorption  in kidney  is controlled by 

 (a) aldosteron (b) ADH 

 (c) GH (d)  Oxytocin 

Q.154 Nerve impulse initiates with the movement of  

 (a) Mg
++

 (b) Ca
++

 

 (c) Na
+
 (d) K

+
 

Q.155 The cranial nerve in mammals with maximum 

number of branches is  

 (a) vagus (b)  facial 

 (c) auditory (d) olfactory 

Q.156 Purkinje fibres are present in 

 (a) brain (b)  heart 

 (c) blood (d)  lungs 

Q.157 Law of dominance given by  

 (a) mendle  (b) Hugode vriegies 

 (c) Darvin (d) None 

Q.158 Which of the following nerve of human being is 

both sensory and motor? 

 (a) optic (b) vagus 

 (c) trigeminal (d)  all 

Q.159 Relaxin is released from 

 (a)  pituitary  (b)  ovary 

 (c) testes (d)  adrenals 

Q.160 Which of the following hormone is related with 

iodine? 

 (a) oxytocin (b)  Thyroxin 

 (c) ADH (d)  Secretive  

Direction:  (Q161 to 166 ) In the following questions, 

each question has four terms. Three terms 

are alike in some way. One term is different 

from others. Find out the correct term and 

indicate its correct5 alternative letter. 

Q.161 (a) Patna (b) Bhopal 

 (c) Hyderabad (d) Allahabad  

Q.162 (a) 139117 (b) 138112 

 (c) 13791 (d) 13678 

Q.163 (a) C.H. (b) F.D. 

 (c) B.L. (d) P.E. 

Q.164 (a) Wheat (b) Barley 

 (c) Msutard (d) Maize 

Q.165 (a) Deer (b) Panther 

 (c) Jackal (d) Wolf 

Q.166 

                  (a)              (b)              (c)       (d)  

Direction : (Q 167 to173  ) In the following question, 

there are four terms in each question, the 

terms right to the symbol : : have some 

relationship as the two terms of the left of 

symbol : : out of the four tem one term is 

missing, which is one of the four alternatives 

given below. Find  our the correct alternative  

and indicate its correct alternative letter. 

Q.167 BYCX: DWEV : : FUGT : ?       

 (a) HSIQ (b) GRHQ 

 (c) ITJS (d) HSIR 

Q.168  ADGJ : KNQT : : ? MPSV 
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 (a) CIEL (b) DJGM 

 (c) CLFI (d) CFIL 

Q.169 HFEDG:   MKJLI : : RPOQN : ? 

 (a) WUTVS (b) XVUWT 

 (c) WUTXS (d)    WVUTS 

Q.170 
Y

E
 : 20  : :

N

D
 : ? 

 (a) 4 (b) 6 

 (c) 8 (d) 10 

Q.171 HC : ? : : OK : 
110

150
   

 (a) 10/40 (b) 20/80 

 (c) 30/60 (d) 30/80 

Q.172 PSVY : ORUX : : BEHK : ? 

 (a) AFDJ (b) ADEJ 

 (c) ADGJ (d) DFAJ 

Q.173 PD : 10 : : Cl : ? 

 (a) 12 (b) 10 

 (c) 08 (d) 06 

Direction :  (Q 174 to178 ) In the following questions, 

there are equations have become wrong due 

to wrong order of signs. Choose the correct 

order of signs in the four alternatives given 

below so that the equation become right. 

And indicate its correct alternative letter. 

Q.174 6×3=5÷10 

 (a) = × ÷ (b) ÷=× 

 (c) ×÷= (d) ÷×= 

Q.175 45×5−20=2 

 (a) ×−= (b) −×= 

 (c) −=× (d) =−× 

Q.176 2= 12×4÷6 

 (a) ×÷= (b) =÷× 

 (c) ÷×= (d) ÷=× 

Q.177 5= 4×1−8 

 (a) =+− (b) +−= 

 (c) +=− (d) −+= 

Q.178 8= 3+17×7 

 (a) ×=+ (b) ×+= 

 (c) +×= (d) +=× 

Direction : (Q 179 to 183) Following questions are 

based on number/ letter series one/two terms 

is missing in each series and indicated by 

question mark(?). Find out the missing term 

out of the four alternatives given below and 

indicate its correct alternative letter. 

Q.179 31, 25, 34, 21, 37, 17, 40, 13, ?, ?  

 (a) 45, 12 (b) 42, 15 

 (c) 43, 9 (d) 13 , 10 

Q.180 4, 1, 9, 8, 16, 27, 25, 64 ,?, ? 

 (a) 64, 81 (b) 49, 64 

 (c) 49, 36 (d) 36, 125 

Q.181 ?, ? 13, 17, 25, 32, 37, 47, 58, 71 

 (a) 9, 10 (b) 10, 9 

 (c) 11, 10 (d) 10, 12 

Q.182 1, 2, 4, 6, 16, 18, 64, 54, ?, ? 

 (a) 256, 162 (b) 250, 150 

 (c) 225, 136 (d) 220, 130 

Q.183 Y, S, W, V, ? , ? S, B, Q, E 

 (a) U,V (b) U, Y 

 (c) S, E (d) Y, T 

Direction : (Q 184 to 187) In the following  questions, 

there are five boys A, B, C, D, and E. A is 

bigger than C, D is smaller then B,C is bigger 

than B. A is smaller than E. Choose correct 
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alternative given below and indicate your 

correct response. 

Q.184 Who  is biggest in all? 

 (a) B (b) C 

 (c) D (d) E 

Q.185 Who is smallest in all? 

 (a) A (b) B 

 (c) C (d) D 

Q.186 Who is smaller than C but bigger than D? 

 (a) E (b) D 

 (c) C (d) B 

Q.187 Who is bigger than C but smaller than E ? 

 (a) A (b) B 

 (c) C (d) D 

 

 

 

Direction : (Q 188 to 191) There  are three circles in 

the following questions. First circle  

indicates the area of wheat, second for rice 

and third indicates  the area of gram. Choose 

correct  alternative  and indicate your correct 

sequence. 

 

 

 

 

Q.188  The area indicates only gram- 

 (a) A (b) B 

 (c) D (d) C 

Q.189 The are indicates gram and rice both- 

 (a) A (b) G 

 (c) B (d) D 

Q.190 The area of wheat and rice both indicates- 

 (a) D (b) A 

 (c) E (d) F 

Q.191 The area of wheat, gram and rice indicates – 

 (a) E (b) C 

 (c) D (d) A 

Direction : (Q.192 to 195) Figure A, B and C are given 

below study them and answer the questions 

based  on them indicate the correct 

alternative  letter. 

 

 

 

 

Q. 192 How may triangles in figure A? 

 (a) 13 (b) 14 

 (c) 15 (d) 16 

Q.193 How many squares in figure B? 

 (a) 12 (b) 13 

 (c) 14 (d) 15 

Q.194 How many parallelogram in figure C? 

 (a) 13 (b) 14 

 (c) 15 (d) 16 

Q.195 How many straight line in figure B? 

 (a) 13 (b) 14 

 (c) 15 (d) 16  

Direction : In the following question there are five 

teachers A, B, C, D and E teach as follow: 

 Figure A                   Figure B              Figure C 
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 (i) A and B teach History civics and 

Mathematics subject 

 (ii) C and B teach Geography , Mathematics 

and Economics subject. 

 (iii) D and A teach Economics, History and 

Civics subject 

 (iv)   E and D teach History, Geography and 

Economics subject. 

 Choose correct alternative from given below  

alternative. 

Q.196 Which  subject is taught by all teacher. 

 (a) History (b) Geography 

 (c) Civics (d) Economics 

Q.197 Who teaches all the subject? 

 (a) A (b) B 

 (c) C (d) D 

Q.198 Which subject is not teach by D? 

 (a) Geography (b) Civics 

 (c) Economics (d) Mathematics 

Q.199 Which subject is not teach by A? 

 (a) History (b) Geography 

 (c) Civics (d) Economics 

Q.200 Which subject is teach by E and C jointly? 

 (a) Geography and History 

 (b) History and Economics 

 (c) Economics and Mathematics 

 (d) Economics and Geography 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer Sheet 

 1. A 2. B 3. C 4. A 

 5. A 6. C 7. A 8. C 

 9. A 10. C 11. A 12. C 

 13. A 14. B 15. A 16. A 

 17. A 18. A 19. C 20. A 

 21. A 22. B 23. C 24. B 

 25. D 26. D 27. B 28. C 

 29. C 30. C 31. B 32. C 

 33. B 34. A 35. D 36. C 

 37. B 38. C 39. B 40. C 
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 41.  

 161 D 162. B 163. D 164 C 

 165 A 166 B 167 D 168 D 

 169 A 170 D 171 D 172 C 

 173 D 174 D 175 C 176 A 

 177 B 178 A 179 C 180 D 

 181 A 182 A 183 B 184 D 

 185 D 186 C 187 D 188 A 

 189 D 190 B 191 D 192 A 

 193 D 194 C 195 C 196 A 

 197 D 198 B 199 D 200 B 

 Match 

  

 

 

 

 

 

 

 

 

 

   

   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

 

 

 

 

 

 

 

 


